F£1 208EBHAN—-YIREMERERMU-10T7y FYHILD T R5 /N0 1RSSOV REEE

T. WEST|® V|E e x|® % - @ 8| B ex | e oYY A B A BoE A | e | ek e
° O ° ) 0 O
T.WEST o — ala = ol1 = 43|18 vy oA > - ols - o|ef18]1
~ O O ° . ° °
& Vig 2, s — ol1 - slel2]2 2 Ry - 4, ; - 7 |o]-8]s
- ° ° ° _ : ° O
BeREX |0 - S|y - 3 o - 4+]1°-7| 4 e A, - |4 20 3| 3|2
= - O O O
B & o 5 4 _ 1 3 _ 1 1 _ 0 o 6 1
: YNy B mscam Alsl w8l B | ex| B F‘ Uoo— alT. P -ulr 2 om R a6k | R
O O O A °
9N s ¢y - -
IV Ny R s — 4l7 2 4l41 2 4|9 f8] 1 AU A s = ol - el 1|®|2
° O @ A °
7 — 1 -,
8 |, D g s ~ ols - ol&9]2 T.PI-u L, D, > - sl 1[2]2
° ° O - 0 0
scols A |, |, _ o o - 1]18|0°|s gEaal . Z J|ls Z 6 | 10| 1
- ° ° ° _
BoE B, - ilo - sl1 - 10 o|-27| 4
= EREE - BE| Rl o 88 @ | R =2 3 | #s | S | Ak ovw Bl 8RR B |v@m2 A|wa|ex|ks
o _ ® ° A _ ) O A
HREE - ER 5~ olo - slo - ol 4[] 3 = 6 - ol = 4|4lefz2
- ° ° ° - ° ° _
£ 8 R|, _ , i~ alo - 4|08 4 8 8 B|, _ & o - 43| 9|-19] 3
O O ° . A 0
I N ;= a4lelz2]z2 ewE oAl T s D4 4 |18 1
= o = A O O
A P D A 77|
sc@m&g B2 # U Fl#MBSsSMP @2 Blma|sx|m: 2 R A |ERz22b5| 8 8 C |Ba|ex|eEs
A ° ° - ° A _
scHls B o — ol1 = als 2 o144 = R A I S L L
_ A ° ° . _ 0 °
L IR S P i - olo - 41|88 S D > - s|8fo]2
. O @ @ : A 0
mwssm |, — |, ° | > ~ ol 9]e]|1 e cfl, - |5 2 5 41| 1
5 O O )
B2 B, — 1, 2 olo - o 61| 2




(1RSDOVE IAALARTI2—-)L]

£1 208 RAN—YiREMEESKWN

U-10D vy EBILD T X5 1 /N)b

AJd—F (AJOvH/BZOvD)

SR TD—20—72

i53 i X 4 = ¥
| 9:00|AIT. WEST 2 3 B V VY A - BB 70
@ 9:20(AFPR=ZEX O 1 B0k - 98F | 7. WEST « & EH V
@ 9:40(B: IV A 12 O B8 A0 FPhouRXK - 1Bk - B5E
@ [10:00|AiT. WEST 3 O FHhREX | IV A - BlIE A
®[10:20(|A% Vo1 3 Bk W@ | T. WEST - FPREX
®|10:40(B: 3V A 5 2 Al B A 2 E V - Bbx.®m5E
@ [11:00[AiT. WEST 1 4 B - g5 | 03 MmenlEB A
11 :20|A & VvV 3 O FhdzmX | T. WEST - Bk - &5
©([11:40|BifB A 7 Bl B A 2 B V o HPhREX
BId—Fk (CTOwvo/DJOv2)

i53 & X 4 = ¥
@] 9:00(CiODyNvk 3 1 8 Y R —/A « T. 7Z=U
@ 9:20|CcisCHlE A 10 1 A 8 B IINvE < 8B i)
@ 9:40|DiFR U — A 2 2 T. PZX=Y Scilis A - Bl B
@[10:00|CiOYNYy IR~ T 1 SCHligs A FUJ—A « RERR
®[10:20|CiE B 8 O R & B JYN\w bk « SCHiis A
®[10:40DiF U — A O 6 RERKR | B B -« Bl%&E B
@111 :00|CiDV/\Vy k 11 1 8088 B T. PX=U « RER R
11:20|Ci8B B 5 2 SCHlEg A JIUNwk « BB B
© [11:40[DiT. PZ—=1 2 6 RERR | B EX - Scilils A
Ca—k (EJOvYD/FZ0v D)

i53 & X1 4 = ¥
@ O :00|EizxEBE-EA 2 O = R JV B - ER B
@ 9:20|E#I B @@ 1 4 R=EIJ 3 | exes-#8 - B R
@| 9:40|Fi 3V B © O R B |8l 8 @« RFI1 3
@ [10:00|EizxeeE-28 O 38l B m=m V% B« hiER A
®|[10:20|EE R O 4 R =EJ 3 | Exes-23 - f B =
® [10:40|F: DV B 1 1 HE2 A | B2 B R - REI I
@ |11 :00|EizxeE-28 O ORZ]IIN | ER B « EE A
11 :20|EiE R 1 38 B B | Exes-es o REI I
©[11:40/F'E B B O 1B3PER A | B B R -8 B =
DI—F (GTZDvo/HTJZOwv D)

i53 i X 4 = ¥
©) 9:00|GiscCHE B O O =)L 7F ER A - ERZIRRS
@| 9:20|GigilBESSM 2 O PiEZER B SCilltg B « 22 J)UT
©) 9. 40|HIE &R A O 1 EFEZRALS gABSSM - iEE B
@ [10:00|GiSCHiEs B 1 4 KBS SM ER A - plEB C
®|10:20(Gi7 # )L 7 2 4 PiEZER B SCillis B « #BRSSM
®|10:40|HE R A 2 2 Al B8 C J#)b7 « iEE B
@ [11:00|G:SCHiEg B 1 2 hiEgZE B ExA2+S - Bl @ C
11:20(Gi2 # )L T 1 2 #ABSSM Scilis B - i@ B
Q|11 :40|HiIEFAR+S 2 3 Al B C 22 )7 « #BESSM




£1 208 H AN —YiREHEHES KW
U-10T7 v IV = X5 1 /N)b

CRES—TF XV ) )
HEeslE 792879
(AR FRBEF—T XV ) (Bff RBEEF—TF AV
1 | 6 5 | 1
0 -3 3 -1
[925) (§:0)
2 2 3 0 6 0 1 1
PK PK
2 -3 2 -3
A16L H2{z B1fi G2f1 Ci{x F2{1 D14t E2f:
® = - P 3 3 : 8l
B * > = > > i
. 2 ol = JX ol = BB
v
~ A B B
5 2 B ~ B
3| 0 2| 1
(CHl RBEF—TFAVE) (D# RBL—FAVERD
0 | 3 5 l 1
0 1 2 -0
[0°2) (329)
3 1 1 1 0 3 2 4
PK
3 -2
E1fz D21 F14s C2{i G114 B2{iL H14L A2{iL
R T th 5 & =
. = 5l Bl
E % % Bﬁ Nast =
)2\ E S /$ /@
it l s A o
3 Y A i M v
0 8 3 3
(Dx=ZwoORU-T)
HEEER THo—29-7H
(AR DxZvou=2o) (B#2 2J2xZwvoORU-=D)
T. WEST|&zue- za| scaiss B x| cx| & B | BR B|Fhaak|ms|ex| @
o _ - @) ®
T. WEST 1 “olo - 2 112 B33 A0 5-0l1 -5 112
Bt - ER . . - = . .
EREE - B o - 1 1.4 Ol-4| 3 F3IE®R B 0-5 0-6 11 3
O O . O O
sculs Bl 5 T |4 T 4 5|1 A4 FpsuEx 5 _1l6 - o 6 10| 1
(CH DxZwDu-=2o) (D 2JxZ—wou-=2o)
scolg Al DA)LT| BER |#=|ex|mE: R—=AIBER A|BE B |#s=|Bx|iEm
scHits A O%O 6(—3046 1 3| Ry—1 2§24?1 3|0
_ A O = A @)
77J)bTO_O 4_0442 HBEE.J?\AZ_Z 5 - 1 411
R . . _ Nt . . _
ERO—60—4 O|-10] 3 C4%U,@B1_41_5 7|3




$£1 208 H AN — ViREM HESRN

U-10Dy tILT T X5 1 /)L
[ b= XY SHALRTI-)V]

ekl 7To0—209—-70

A 33 — bk

i & X 5 = H
M [13:00]|a>=iT. WEST 1 O Exgs-B8 | JVY A - @2 B
@ |13:20|ARIBEE » T 2 BEARARS T. WEST + @=x©E-ED
@|13:40|ARIDVY A 3 O PiZE B | BK-E8 - BRI
@ [14:00]|a2iT. WEST O 2 SCHlig B | ERAZLS VY A
G |14 :20|ARIEHE - HE 3 O hiEZE B T. WEST ScCHls B
® |14 :40|a=iZ5e®E - EZE 1 4 SCHlg B Bk -5 - PiEE B
D15 :00|ARIERAZRS 1 6 VY A | exe=.m8 . SCHiz B

J = bk

i A& X & = H
@ [13:00]|s>:iB 0 5 OE R B RE LR 53 212
@ [13:20BriDOV/N\wY ~ 6 OIJYY B 1BA0 ER B
@ [13:40|BRitlR & B &R 1 181 8 B | DYN\vhk VY B
@ |14 :00|e>:il8 0 1 5FhREX | IVN\whk PIrsEa
®|14:20|BRiOYY B2 1R & g R BB#0 Fhguak
® |14 :40[eo:iE B B O 6 FPRZK VY B IRE KR
@ |15:00(BrioOY /NNy ~ 5 18 B m ZER B Fhouzx

J = F

b5 & X1 5y = +
@D [13:00]|co=iSCHIEE A O O # L 7 PiEE A SHY
@ |13:20|critlR & 4t 3 3 1 T. PZX—U SCHlEs A AT
@ |13 :40|cripiEi2 A 1 18 Y REIL 3} T. PZX—=U
@ |14 :00|coiSCHIEE A 6 O~ R R=EIL 3 PEER A
® |14 :20|ceiT.7X—1J 0O 8 & B ScCHlEg A EER
® |14 :40|co:iD #x JU T 4 o= R TPX—=1) SEX
@ |15:00|cxitR = bt 31 O 3hEE A AT EER

J — b

b5 & XY Sy = ¥
@ |13:00|pozik 1) — A 2 28 R A Bl C Z2HV
@ |13:20|DRiEAB S SM O 33 & A RU—A BR A
@ |13:40|Dxipl B Cc 2 4 B V gAZS SM BlIE A
@ [14 :00|oozilx 1) — I 4 1 Bl B8 B Bl A Z2EHV
® |14 :20|Dx®igfESSM 3 33 B C R —A BiiE B
® |14 :40|o:iE R A 5 1 B &8 B gBS SM BB C
@ |15:00|DxiBI B A5 1 8 \ 2R A BiE B




